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Pulse count and window time

The drawing used is the same as the example in the datasheet. The settings on the device are 3 pulses and a 4

second time window.

E910.92
PIR Motion Detector
Application Information

Pulse Count Explained

The first example shows how a pulse is defined, and when it is counted as a valid pulse.

1 LED active while

PIR voltage is above
threshold, pulse

counted.
First pulse counted. 4 Pulse not
A counted as a valid Threshold
""" N 22 pulse since PIR [T TTTTTTTTTTTTTTTTTTTTTIITTTT
voltage did  not
PIRIN-NPIRIN A A/ rhanon sian ‘
""" VoS T T T T T T  Threshoid
LED 8 ReLAY did not
activate, only 2
4s— pulses was counted
WINDOW 4s — in first time window.
RELAY ’ \
2 1 time window 3 o time window
starts  with LED starts  with LED
pulse, 3 pulses in a pulse.
window will trigger Second pulse
RELAY. counted.
The second example shows the concept of time window and how it is used.
1 LED active 3 LED active
while PIR voltage is while PIR voltage
above threshold, is above
first pulse counted. threshold,  third Threshold
Time window is "\ pulse counted. [T
PIRIN-NPIRIN \/AVAV \
"""""""""""""""""""""""""""""""""""""""""""" Threshold

LED

WINDOW

RELAY

2 LED active while

PIR voltage is above
threshold, second
pulse counted.

5 RELAY stay active

for set window time, 4
seconds in this case.

4 3 pulses in a

window
trigger relay.
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The example below shows how the alarm condition is achieved and sustained. It also shows what happens when the
alarm condition does not exist any more.

1 LED active
while PIR voltage is

above threshold,
first pulse counted. i

AN | \ ... Threshold
f ) \
P ; A /\
2 LED actl.ve while /v V ‘/ V \/ v V V \/
PIR voltage is above

5 These windows

"""""""""""" threshold, second =N T "Threshoid” contain 3 pulses
pulse counted. I each, and alarm
LED condition exists.
3 F— 4s—
LED active while — 4s
WINDOW
PIR voltage is above 4s 6 This window
threshold, third — does not contain
RELAY pulse counted. 3 pulses. Alarm
condition does

not exist any

more.

4 3 pulsesin a

window will
trigger relay.

7 RELAY stays active

for 1 window time if no
more pulses are counted.
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